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et = (¢ —1)’g(x) +pr+q O

LB Oitr=1%2/RALT

ptg=1 @
F7, OQOUx% o THHLT
nz" "t =2(x —1)g(z) + (¢~ 1)%¢'(x) +p O
@izr=1%2RAT2L
p=n @

®, @75
p=n, q=1—n

WRIZ, KRDODRY I ne+ (1 —n) (&)
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AHIRE 6 — 1

IROBIEE W K.
(1) y=(z+1)(2z +3) (2) y= (22 +1)(3z —2)
(3) y= xfl (4) y= 22
(5) y =Vt ©) v =
(7) y= 3z +4)7 (8) y=(a? +1)°
9) y= Izi% (10) y = (z + 1)(2z — 7)*
(11) y = (2 + D)(z + 2)(z + 3) (12) y = (”’";)#
(13) y=vZ— 23

(1) FOMAEI & 5.

dy

%:1-(2x+3)+(z+1)~2:4$+5 (&)

(2) FOBANEI X 5.

% =2.32-2)+2z+1)-3=122-1 (%)
(3) BN £ 5.

dy 2z (x+1)—a2*1  g242¢  x(z+2)

dr (z+1)2 o (x 1) (z+1)? (%)
(4) BOWAIEIZELB.
dy 2 (x+4)—-Q2r+1)-1 7 (%)
dx (z+4)2 (z + 4)? -

(5) y=a3 THEHS

6) y=2"3% THEHMS

dy _ 3 -3 3 -3 3 (%)
dx 5 5 5 /28 -
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(7) ARBEBOMAEICLD. t=30+4, y=t"T B L

dy _ dy dt _ 5 11, - 6
- arde 1 3z +4) =21(3z +4) (&)

(8) AMBEBOMAIEIZLD. t=2+1, y=t> Bk

dy _ dy dt

= = 4. = 2 4 g
e 0t du 5t% - 22 = 10x(z° + 1) (&)

(9) GREBOMANIEIZ LS. t =a® — 2z, y:%:t_l rHlr

dy _ dy dt

ay 42, oy 2x—2 e
dr ~dt dr — ¢ =2 (%)

(22 — 27)?
(10) OWREL, GRBEBOMAMELZHVS.
Z—z:1-(23:—7)4+(x+1)-4(2x—7)3~2
={2z-7)+8(x+1)}(2x—7)>
=10z +1)(2z-7)° (&)

(11) MWDz V5.

Z_g =(@+1)(z+2)(z+3)+(x+1)(z+2)(x+3)+ (x+1)(x+2)(z+3)

=x+2)(z+3)+(xz+1)(xz+3)+ (z+1)(z+2)
=32+ 122 +11. (%)

(12) £ TE2AETED, ZOEMOMIEEZHVS.

2 —5r+6 o 2
y= x—1 =z—4+ -1
W% x THRd 5L
dx (x—1)2 (x—1)2
(13) AREROMAHEE NS, y=(2—1%)2 THZH S,
dy _ 1o ayh-ig gy 32 (=
W_le-wpie-ay =2 @
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RHIRE 6 — 2

v,y BROMEE WSS, cors, Woagnk c 0BORATRERTE L.

(1) 42% +9y? = 36 (2) 22+ 32y + 292 =1

fR% - SR
(1) 4a? +9y% =36 OMiL%E » THMHL T
dy _
4-22+9-2y d =0

dy 4x
2 (#)

doe 797y
(2) a2+ 3zy+2y2 =1 OWL%E « THHLT

d d
2 +3(y+a- L) +ay- Y =0
dx dx

dy
_— = — 2
. (22 + 3y)

d_y__2x+3y
dr 3z +4y

(3z + 4y)

(%)
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Lecture 7 #%3%(5) 1% NEBEHOEEK - R

HERET -1

IRDBEE MAE K.
(1) y=e*+a2+1 (2) y = e2*H! (3) y = v To+3
(4) y= (" +2)° (5) y =Ver +1 6) y=———
e’ +x
(7) y= Laer (8) y = (x+1)%c* 9) y = Ve
2z
(10) y = - (11) y=2 (12) y=2-3°
FRE - fESR
dy _ e P
(1) i (&)

(2) BRI OMEE NS,

Z_g — e?z—i—l . (233 + 1)/ — 262954—1 (g)

(3) BB OMAER V3.

% _ e:p2+x+3 . ((EQ L4+ 3)/ _ (21’ + 1)ew2+gj+3 (%)

(4) AKEBOHAIEEZANS.

W3 ) (b o) =3 D) ()
(5) ERBIHOMA EE N5,

xT

dy 1 x -1 x / € At
= _. 1)2 . 1) = =
i R N G et w - SO

(6) y=2 =y =0z}, BLOAKMBOMMNEE TS, y= (e +22)7L XD

d © . * T2
=) )T (e +ﬂy:fz%fﬁ%f (%)

(7) MO EEHNS.

d 1 ! _x 7;/_1 xT T\ __
=@ tale’)} = 5 (¢ taet) =

DO | =

(1 +z)e”  (H)
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(8) BOMAEE NS,

Z_Z a4 1) 4 (4 1)P e = () (e + 12 ()

(9) MOWHEEZHNS.

dy (12)/ 1 -1 2 2 1 - 2 dr+1 o
dr — T2€ =57 2. e o2 = 2\/56 + 2y/ze® = e (&)

(10) PEDRD L ARBIEOM D EE V5.

dy (621)/ (x+1)—e*®(z+1) 2 (x4 1) —e* (2w 4 1)
dr (x+1)2 (x+1)2 (24 1)?

QY _ o %
(11) 5% =2"log2 (%)

(12) MOWHIEIZ LS.

Z—Z:1-39”+a:-3””10g3:3m(1+xlog3) (&)
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HEBEET -2
IRDBEE ME K.
(1) y = a* + logx

(4) y=xlogx
(7) y =log (2% + 2z + 5)

fRE - fE5R
dy 43, 1
(1) gy = At o (&)

(2) AXBEBOMDIEZ NS

1

_ 3 _

(2) y= (= +logx) (3) y= T T logs
_ logzx .

5) y=2773 (6) y=log (3 +1)

(8) y =logzx (9) y=1log, 15

dy _ 2 " 2 1 s
e =3(x +logz)® - (z +logx) = 3(x+logx) <1+ x) (%)
(3) ABEBOMAEEMH NS, y= (v +logx) L &b
dy _(yy. -2, w4l
W= (1) (ot loga) o+ o) =~ EEL_
(4) MOWMAEEZTANS.
d—y:1~1ogx—|—x~i:1—|—10gx (&)
dx x
(5) BDOWMAEZNS.
L~(:10—|—1)—10 z-1
dy _ x € _z—uzlogr+1 (%)
dr (z+1)2  az(r+1)? -
(6) GREABOMNEEHACS. t=3z+1, y=logt LT
dy _dydat _ 1 5_ 3 (%)
dx dt dx t 3z +1 -

(7) BB OMDIEEZHWS.

(8) EDZEMARL D,

t=a2+22+5, y=logt LT

dy _dy dt _ 1
de ot dr 122
2+
22 4+22+5
log x
logs z =
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Thb. DRIT

dy _ 1 1 __ 1 (%)
dx log3 = zlog 3 a

(9) EDZHARED,

_ logh -1
log,, 15 = Tog(x + 1) = (log5) {log(x + 1)}
ThHd. PRI
dy 1. D log b .
= (og) - (1) flogle + )}y = — o (#)
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HEBEET -3

KB % FINT, IROBE MO &

(1)y:33\/5 (x >0) (2) y= 0<z<1)

R - fReR
(1) y=2V® OELOHBNEE &5 L
logy = vz logx

Mm%z x T LT

£ s (e
Lo T
y’=y~%(5logx+1)—xﬁ‘% (%logm—&—l) (%)
(2) y= ig DL AR E L 5 L

1 1
logy = 5 log(1 — V&) — S log(1 + V)

Wiid% x THI LT

1 1
LR L L (L)
y 2 1—yx 2 1+x AW \1—yz 1+x
1 1
T2y 1-=z
£oT
, 1 1 1—z 1 )

BN NN o (o
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EHEEET -4

flx) = % <em + e%> IZRULT g(x) = %f(x) U, g(x) OHEEE h(z) 5.
(1) glx) 2R X
(2) h(z) % ke k.
(3) %h(m) R .

FRE - FRSR
(1) f(z) = %(ew +e 7)) ThENS

o) = @) =y - =g (e- %) @

(2) y=yg(@) B

i)}

£o7T, >0 &0

e =y+y2+1
Tibb
x=log(y + 42+ 1)
L7zoT

hz) =log(x + Va?+1) (&)
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(3) (2) DFER LY
d (x+ Va2 +1)

dwh(x)— T+ Va2 +1
2z

SN ES

B T+ Va?+1

Vil +1+4a
Va? +1

1

e Va?+l o Va4

(%)
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RHIRE T 1)

IR DB W &
(1) y = e + 23 (2) y = e2a+1 3) y= e w1
(4) y=ae> (5) y= % (6) y=(e*+22-1)3
(M v= (8) y= V1 O y=57
(10) y = 57 (11) y = 32a+1 (12) y = x-2°

1) W—er e (®)

(2) BREBOMIEIZL S,

ﬂ _ 2x+1 !’ 2z+1 o=

dr =€ (2x 4+ 1) =2e (%)

(3) BREMOBMEI X 5.

Z_z _ em2+az+1 . ($2 L4 1)/ _ (21, + 1)6932+:v+1 (%)

(4) FOBANEIT X 5.

(5) FEDATEZ V5.

dy etz —(e"+1)-1  ge* —e*—1
de 22 x?

(6) BB DOMIIEIZ LS.

g—i =3(e" + 2% —1)% - (" + 2% — 1) =3(e” + 2x)(e” + 2? — 1)? (%)

(M y=(e"—1)"t THENS

. GV N ()

(8) y=(e*+1)5 THBHM5

dy

1 —2 ’ e
Lyt ery=—°=8 &
Eope ey s @
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(9) DB EIZ LS.

dy _ (" +e )P (" —e ") 4

dr (eI_A,_e—ﬂE)Q - (ew+e—w)2
dy
dx
(11) BERBEBOMD EE 5.

(10) = 5%log5b (&)

% = 3%t . log3- (2 +1) =2log3 - 3= !

(12) MOWPEEZHWS.

Z—i =1-2"4+1x-2"log2 = (xzlog2+1)2"
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AHIRE T — 2

RO E Mo &.
(1) y=logz ++/x (2) y=(z+1)logz (3) y =1log (3z+1)
(4) y = e log (2 + 1) (5) y = 18T (6) y = log, (z+1)

T

R ey

de  x 2z
(2) MOMWAIEIZELB.

dy _ . i 1 it
dx_l logz + (x4 1) x—logx—i—l—i—x (&)
(3) AREABDMAEIZ LS.
dy _ 1 r__ 3 o
o serr GtV =50y )
(4) EOWNEL K OCABBEBOMMIEIC L 5.
dy . 2 . 2r 2 2xe” .
gy =€ log(z®+1)+e x2+1—elog(x +1)+x2+1 (%)
(5) REDWAIEIZL B,
losrflo rz-1
dy _ & _1—logx .
rr e =T &
. log(z + 1) ..
dy _ 1 1 -(m—l—l)’:; (&)

der — log2 xz+1 (x +1)log2
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RHIRE 73]

y =22 (27U, 250) LT5. % R k.

W, HRNEE LD

logy = log 2%+

logy = (z +2)logx

W, x T LT

1 dy

=1 L
dm_l logz + (z +2) -

<

ﬂ— ( 2)_ x+2( 2)
i =Y 1ogx+1+x =z logz+1+x
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